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Model Question Paper- 2015-2016

Subject Code: 85E Subject: SOCIAL SCIENCE
(ENGLISH VERSION)

Total No.of Questions: 47 X Std

Time: 3 Hours. Max Marks: 80

I. Four alternatives are given for each of the following questions/incomplete
statements. Only one of them is correct or most appropriate. Choose the
correct alternative and write the complete answer along with its letter of
alphabet in the space provided against each question. 10x1=10

1. In group ‘A’ list of leaders and in group ‘B’ their activities are given. Identify
the group that matches.

A B
a) VallabhaBhai Patel (i) Formation of temporary Government.
b) Sheikh Abdullah (ii) demanding for the formation of Vishalandra.
c) Potty Sriramulu (iii) Integration of provinces.
d) Jawaharlal Nehru (iv) Fighting for the freedom of Kashmir.
A B C D

A lii Iv li I

B Iv lii I li

C li I iii Iv

D I li Iv lii

Ans:

2. The Mysore state was inaugurated on;

A)1st November 1973 B) 1st t November 1956
C) 15t August 1947 D) 15t August 1955
Ans:

3. Pakistan did not maintain cordial relationship with India, because



A) These nations have got geographical nearness.
B) These nations have got common cultural heritage.
C) Of Military Dictatorships and political instability in Pakistan.
D) Pakistan is encouraging terrorism in India.
Ans:
4. The League of Nations was established to maintain peace. But it failed as
A) The United Nations Organisation was established
B) The Second World War broke out in 19309.
C) The First World War was ended.
D) The cold war was started between USA and USSR.
Ans:
5. The importance of Section 17 of our constitution is
A) Prohibition of untouchability.
B) Providing free and compulsory education.
C) Providing more provision to Women in politics.

D) Providing reservation for Backward classes in eduction.
Ans:

6. Rainfall occurs at some places of India during April and May due to;
A) Local temperature and winds
B) Decrease in temperature and increase in pressure
C) Tropical cyclones in Bay of Bengal
D) Decrease in pressure and increase in temperature
Ans:

7. The exact matching of the marked places is

i /
I P 1
[ S "
& S
A = i
A =~
Y~ _.
A) 1- Kosi 2- Upper Krishna 3- Narmada
B) 1-Upper Krishna  2- Kosi 3- Narmada
C) 1- Kosi 2- Narmada 3- Upper Krishna
D) 1- Narmada 2- Kosi 3- Upper Krishna

Ans:

8. Which one among the following group has only Direct Taxes?
A) Personal Income Tax, Corporate Tax, Wealth Tax and Stamp Duty



B) Central Excise Duty, Import - Export Taxes, Service Tax and Foreign travel tax.
C) Personal Income Tax, Import-Export Taxes, Wealth Tax and Foreign Travel Tax.
D) Central Excise Duty, Corporate Tax, Wealth Tax and Stamp duty.
Ans:
9. A Business man wants to open an account, which type of account do you

suggest him?

A) Savings Bank Account B) Current Account
C) Recurring Deposit Account D) Term Deposit Account.
Ans:

10.The entrepreneur who founded “Jet Airways” is

A) Dr. Pratap Reddy B) Naresh Goyal
C) Narayana Murthy D) Varghese Kurian
Ans:
II. Answer the following questions in a sentence each: 14x1=14

11. History cannot be blindly accepted today. Why?

12. The Government of India Act of 1935 became an important document in the
formation of the Constitution. Why?

13. Why was arms race between two power blocs intensified?

14. How does political corruption lead to organised crimes?

15. Why is the Trusteeship council becoming a small body?

16. Why is Child Labour Rehabilitation Welfare Fund established?

17. Dowry is a social evil tormenting women. Why?

18. What is Intensive Farming?

19. Which is the largest paddy producing state of India?

20.Why aluminium is called the wonder metal of the 20t century?

21. Why is Mumbai called the “Manchester of India”?

22. How does the standard of living improved as the income of people increase?

23. How is per capita income calculated?

24. How is the word entrepreneur derived?

III. Answer the following questions in two or three sentences each: 15x2=30
25.”Scientific developments led to sea voyages”. Justify.
26. Why was the second Anglo -Mysore War fought?
27. ‘Swamy Vivekananda was a great inspiration to the youth’. Justify.
28. What are the reforms adopted by Stalin in Russia?
Or
What were the effects of the Chinese Revolution?
29.What are the main causes for over population?
30.Explain the role played by India in upholding human rights all over the World.
31. Name the some movements which were started to protect environment.
32. Differentiate between the Western Ghats and Eastern Ghats.



33. How does soil erosion lead to many problems?

34. Explain the characteristics of Mangrove Forest?

35.Geographical Information system is very useful in map-making. Justify.
36. How can we control the floods?

37. Migration leads the country to many problems. Justify.

38. What are the objectives of five year plans?

39. How does the Globalization affect the traditional food habits?

III. Answer the following questions in six sentences each: 6x3=18
40. Why did Indians fail to through the British out of India in 1857 AD?
Or

How did Industrial Revolution of England effect on Indian Economic System?

41.Why is India considered a most powerful country in the World?
Or

Explain the relationship between India and China.
42 .Explain the constitutional and legal measures undertaken to eradicate

untouchability

Or

Explain the measures undertaken by the government to eradicate

unemployment problem.
43.Explain the problems of Road Transport.

Or
Explain the effects of Bio-Technology on Agriculture.

44. Explain the importance of Rural Development in Economic Development of India.

Or
Explain the importance Public Finance.
45.What are the advantages of opening Bank Account?
Or
What are the advantages of Insurance?
V. Answer the following question in Eight to ten sentences: 4
46. Explain the role of Moderates in Freedom struggle.

VI. 47. Drawn an outline map of India and locate the following. 1+3=4
a) Tropic of cancer =~ b) Nagarjuna Sagara Project c) Kolar
Alternative question for Blind candidates only (in lieu of question No.47)
What are the effects of Himalaya on life of the people of India?



